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Losung Al

filx) = (B3x —2)2 filx)=2-3x—2)'3=6-3x—2)

f2(x) = 3 —x?)? f2' () =3B -x*? (-2x) = —6x- (3 —x?)?

f3(x) = (x — 1)? ') =2-(x-1)

fr(x) = (2x3 — 2x)3 fi'(x) =3-(2x3—2x)?-(6x2—2)=6-(3x2 —1)(2x3 — 2x)?

fs(x) = (5x2% — 3)3 fs'(x) =3+ (5x% —3)% - 10x = 30x - (5x%2 — 3)?

fo(x) = (x? = 3x)? fo'G) =2-(x*=3x)- (2x = 3)

f(x) = (x? = 2x)° fF'(x)=5-(x2—x+2)*-2x—2)=10(x — D(x? — x + 2)*

fe) =2 —x+2)8 |fe'(X)=8-(x*—x+2)"-(2x—1)

folx) = 3x3 +4)° fo'(x) =5-(3x3+4)* - 9x2 = 45x% - (3x3 + 4)*

Losung A2

fi'(x) = 3_5% fis(x) = 0,53/ (4x2 — 3x)2
0,5-cos(0,5x—1)

f2(0) = - sin?(0,5x — 1) fir () = m

f3(x) = =2m - cos(2(x — 3))

fie(x) = mcos(2(x —3)) + 1

fi'(x) = 42x% - (4 —x7)7

fis() = (4 —x7)7°

fe(x) = =10+ (2x3 + 3x% + x)* - (6x% + 6x + 1)

fia(x) = =2(2x3 + 3x2 + x)°

fo'(x) = 4 - (5x* — 4x3

—2x+5)3-(20x3 —12x% - 2)

fi3(x) = (5x* — 4x3 — 2x + 5)*

fr'(x) = 3 (5x% + x? — 4x)? - (15x2

—2x—4) frz(x) = (5x3 + x? — 4x)3

fa'(x) = 2k - (x* = 20" (x — 1)

fui(x) = (xz - Zx)k

fo'(x) =3 - (4x? —3x)% - (8x — 3)

fio(x) = (4952 - 3x)3
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Losung A3

fi(x) = (4x? — 2x)°
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fi'(x) =3-(4x* —2x)? - (8x —2) = 6+ (4x — 1)(4x?% — 2x)?

f2(x) = (x* = 2)™

f2'0) =m-(x* —2x)™" " (3x* - 2)

fa(x) = (x® —x*)>

fi'(@)=5-(x° -

x*)* - (5x*

— 4x3)

fa(x) = (3x® + 5x)°

fi'(x) =6-(3x3+5x)° (9x% + 5)

fs() = 2x+ 1)’

') =7-(2x +1)%-2 =14~ (2x + 1)°

fo(x) = (2x72 + 3x2)8

fo'(x) =8-(2x72 +3x2)7 - (—4x73 + 6x)

f7(x) = (27x — 35)°

f,'(x) =9-(27x — 35)8-

27 = 243+ (27x — 35)8

fa(x) = (2x* — 4x)~?

fo'(x) = —2(2x%2 —4x)™3-(4x—4)=—-8-(x—1)- (2x% — 4x)73

fo(x) = (sin(x))?

fo'(x) = 3 (sin(x))? - cos(x)

f10(x)—(x +z x)

fro'(x) =2~ (%xz + §x3) - (2x + 3x2)

f11(x) = (7x +5)73

fii'(x) = =-3(7x + 5)*.7=-21(7x+5)"*

fi2(x) = (1,9x2 + 0,9x)*

fiz'(x) =4-(1,9x%2 +0,9x)% - (3,8x + 0,9)

f13( )__3

fis () =-(x—-3)7? =~

1

(x-3)?
fra ) = (x231)2 fisd @) =3-(=2)- (x> =173 2x = - (x—fi);
fis@) =V fis'(0) = 222 = 2%
fie(x) = V3 —2x fie'(x) = % B3—-2x)3-—2=-— 3.3/(32—2x)z‘
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